
𝑎 𝑏

𝑎

𝑎 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
=

10 − 1

4 − 1
=

9

3
= 3

𝑏

𝑏 = 𝑦1 − 𝑎𝑥1 = 1 − 3 · 1 = −2 𝑒𝑙𝑙𝑒𝑟 𝑦2 − 𝑎𝑥2 = 10 − 3 · 4 = −2

𝑓(𝑥) = 3𝑥 − 2

(0, −2)

𝑎 > 0

𝑏 > 0 𝑐 < 0 𝑐 = −3



𝑓 𝑔 𝑓

𝑓′(𝑥) = 4 · 2𝑥4−1 − 3 ⇔ 8𝑥3 − 3

𝑔

𝑔′(𝑥) =
4

𝑥

+𝑘

𝑥 𝑦 𝑏

𝑎 𝑎 

𝑎 = 1 + 𝑟 39% 𝑟

𝑎 = 1 + (
39

100
) = 1 + 0.39 = 1.39

𝑓(𝑥) = 150 · 1.39𝑥

𝑏 𝑎



𝑓(𝑥) = 0 𝑓(𝑥) = 0

𝑙 = {−2,4}

𝑓′(2) 𝑅 = (2,4)

𝑥 𝑓′(2) = 4

𝑥 = 2 𝑦 = 4



𝑓 𝐹 𝑓

𝑘

𝐹(𝑥) =
1

3 + 1
𝑥3+1 + 6 ·

1

2 + 1
𝑥2+1 + 5𝑥 + 𝑘 ⇔ 𝐹(𝑥) =

1

4
𝑥4 + 2𝑥3 + 5𝑥 + 𝑘

𝑓

𝐹(𝑥) =
1

4
𝑥4 + 2𝑥3 + 5𝑥 + 𝑘

𝑘 𝑘 𝐹



𝑎 𝑏

𝑎 𝑏 −0.12725 10.265

𝑎



𝑦 = 6.8

−0.12725𝑥 + 10.265 = 6.8 ⇔ 

−0.12725𝑥 = −3.465 ⇔ 

𝑥 =
3.465

0.12725
⇔ 

𝑥 = 27.2298625

1980 𝑥 1980 + 27.229 =

2007.229



𝐴

180𝑜 − 80𝑜 − 72𝑜 = 28𝑜

𝐴 28𝑜 |𝐵𝐶|

sin(𝐴)

𝑎
=

sin(𝐵)

𝑏

𝐴 𝐵 |𝐴𝐶|

sin(28)

|𝐵𝐶|
=

sin(80)

6.8
⇔ 

|𝐵𝐶| · sin(80) = sin(28) · 6.8 ⇔ 

|𝐵𝐶| =
sin(28) · 6.8

sin(80)
⇔ 

|𝐵𝐶| = 3.241

|𝐵𝐶|



𝐴𝐵𝐶

𝑇 =
1

2
· |𝐵𝐶| · |𝐴𝐶| · sin (𝐶)

𝑇 =
1

2
· 3.241 · 6.8 · sin(72) ⇔ 

𝑇 = 10.480

𝐴𝐵𝐶

𝐵𝐶𝐷 |𝐵𝐶|

𝐶 𝐶 𝐴𝐵𝐶

180𝑜 − 72𝑜 = 108𝑜

|𝐶𝐷|

6.0 =
1

2
· 3.241 · |𝐶𝐷| · sin(108) ⇔ 

|𝐶𝐷| = 3.893

|𝐶𝐷|



4.0

𝑉 = 37.5 · 4.02 ⇔ 𝑉 = 600

𝑐𝑚3

2 · 600 = 37.5 · 𝑟2 ⇔ 

1200

37.5
=

37.5 · 𝑟2

37.5
⇔ 

𝑟 = ±√
1200

37.5
⇔ 

𝑟 = ±5.656854

𝑟 > 0

5.656854.

(
5.656854

4
− 1) · 100 = 41.42135%



𝑓

𝑓′(𝑥) = 3𝑥2 − 1.5

𝑓

3𝑥2 − 1.5 = 0

𝑑 = 02 − 4 · 3 · (−1.5) ⇔ 

𝑑 = 18

𝑥 =
0 ± √18

2 · 3
 

𝑥 = ±0.70710

𝑓

±0.70710 −1, 0, 1

𝑓′(𝑥)

𝑓′(−1) = 3 · (−1)2 − 1.5 = 1.5 

𝑓′(−0.5) = 3 · (−0.5)2 − 1.5 = −0.75

𝑓′(1) = 3 · 12 − 1.5 = 1.5



𝑓 ] − ∞; −0.7]

𝑓 [−0.7; 0.7]

𝑓 [0.7; ∞[

(1, 𝑓(1))

𝑓 𝑓′

𝑓(1) = 13 − 1.5 · 1 + 3 = 1 − 1.5 + 3 = 2.5 

𝑓′(1) = 1.5

𝑓′(1)

𝑦 = 𝑓′(𝑥0)(𝑥 − 𝑥0) + 𝑓(𝑥0)

𝑦 = 1.5(𝑥 − 1) + 2.5 ⇔ 𝑦 = 1.5𝑥 + 1



𝑓′(𝑥) = 1.5 𝑓′(𝑥)

3𝑥2 − 1.5 = 1.5 ⇔ 

3𝑥2 = 3 ⇔ 

3𝑥2

3
=

3

3
⇔ 

𝑥2 = 1 ⇔ 

𝑥 = ±1

𝑥 𝑥 𝑓

1.5

𝑓(𝑥) = 20 · (1 − 𝑒−𝑥) + 0.5𝑥

𝑥

𝑓(5) = 20 · (1 − 𝑒−5) + 0.5 · 5 ⇔ 

𝑓(5) = 22.365



𝐸 = −20 + 20 · 𝑡 + 20 · 𝑒−1·𝑡 +
1

4
𝑡2

𝑡

𝐸 = −20 + 20 · 10 + 20 · 𝑒−1·10 +
1

4
102 ⇔ 

𝐸 = 205.0009079985952497

𝑡 𝐸 = 300

300 = −20 + 20 · 𝑡 + 20 · 𝑒−1·𝑡 +
1

4
𝑡2




